Bicycle Chain	


1.	A bicycle chain goes around a 25 cm diameter sprocket wheel and a 10 cm diameter sprocket wheel. The centers of the two sprocket wheels are 80 cm apart.
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How long is the chain?


2.	Express the length of chain as a function of the radii of the two wheels and the distance between their centers.


3.	In order to repair bicycle chains, the repair person has to wrap the chain around a circular form whose circumference is equal to the length of the chain. What is the radius of this circular form as a function of the radii of the two wheels and the distance between their centers?
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